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Question Number : 1 Question Id : 70819113642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819145171.

70819145172, 2

70819145173.

70819145174, =

Question Number : 1 Question Id : 70819113642 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4
EmmjbﬂmmW%
-4

Options :

70819145171.

70819145172.
70819145173.

70819145174, =

Question Number : 2 Question Id : 70819113643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is e The sum of the cubes of its terms is :

Options :
31
70819145175, 17
108

70819145176, 1°

M| 3

70819145177.

e
70819145178. 7



Question Number : 2 Question Id : 70819113643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

it O ey = 2 ) b Y 0 ) 9 3 = = Y ey )
T U mmmwmwﬁwmwmaﬁhﬂw;%’,mmua%wmam
g

Options:
31
70819145175, 17
108

70819145176, 12

M|E:‘;

70819145177.

e
70819145178. 7

Question Number : 3 Question Id : 70819113644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options:

70819145179, F =P V4

70819145180, (P~ 9 =P

70819145181, P~ PV ) v (~9q)



20819145182, (P ¥ "P)~ (@ Vv (~q))

Question Number : 3 Question Id : 70819113644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fore A FW e S TR § 7
Options:

70819145179, F =P ¥4

70819145180, (P9 =P

70819145181, P PV @) v (~9)

70819145182, P ¥ "P) A (q v (=)

Question Number : 4 Question Id : 70819113645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i O Ml
Let |a| <1, [bl<1, |c|<1 and x= l A = l b" z= l e I o l_; 7 are in Arithmetic

n=( n=() n=(

Progression, then :
Options :

70819145183, & b and c are in Arithmetic Progression

70819145184 a, b and c are in Geometric Progression

70819145185, & 2b and c are in Arithmetic Progression

5 e o
20819145186. a, b and c satisfy 2b-=ac



Question Number : 4 Question Id : 70819113645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. il % ® l 1 1 . I
WM a<1, [b<1, [<1qMx= Y a", y= Y b"3z=Y " ¥ e Y 7 T g T,

n={ n={ n=(
e
Options :
70819145183, & DA c THHIT 41 H &

70819145184, & b T ¢ IR 4@l H ©

20819145185, & 2b T ¢ FHIT 42t 7 &

' ¥ 2= :‘ - - n el
20819145186, & P T ¢, 2b%=ac %1 HY= Hd §

Question Number : 5 Question Id : 70819113646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M +7n+5

i

is equal to :
n=1

n!
Options:

70819145187, 19e+5

70819145188, 19¢—5

70819145189, 16e—>



70819145190, 16e—7

Question Number : 5 Question Id : 70819113646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
,; n% +7n+5 )
LH____:;r___'EHF$(%:

n=

Options :

70819145187, 19e+5

70819145188, 19¢—5

70819145189, 16e—2

! |

70819145190, 16€-

Question Number : 6 Question Id : 70819113647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 10°0+ (3% (4)°2)+ A is divisible by 9 is :
Options :

70819145191, 2

(o5

70819145192.

|

70819145193.

(=1

70819145194,



Question Number : 6 Question Id : 70819113647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 1 =Ty o qories o, e fod 10504 (3 (4)52)+ ), 9 A fawyra 7, %
Options :

70819145191, 2

[F5)

70819145192.

! |

70819145193.

70819145194, 1

Question Number : 7 Question Id : 70819113648 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819145195, 455

70819145196, 421

70819145197, 435

70819145198, 41

Question Number : 7 Question Id : 70819113648 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 THRR 9o FHAC T W 4, 5906 fag F 1 AfE wR m 3u wfvs fagd = #E o T
U I H T & A e i oft w, S fafe et w fera ¥, g w6 @ A T A
T, W 9 A el ¥ A 9 € 2

Options:

70819145195, 435
70819145196, 421

70819145197, 435

70819145198, %1

Question Number : 8 Question Id : 70819113649 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) ar—b ) )
Ify= —_1) has an extremum at the point (2, —1), then the values of aand b are:

(x—=1)(x
Options :

70819145199, @=1, b=0
70819145200, 2= b=1

70819145201, a=0, b=-1

70819145202.

Question Number : 8 Question Id : 70819113649 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e arx ]j ~ ) “ L‘
RIER ={I 1) (x— 4) &1 Tsh 93H T9< (2, - 131“_% AaanbFAAE:
Options :

70819145199, @=1, b=0
70819145200, 2=0- b=1
70819145201, a=0, b=—1
70819145202, 2= ~ 1 b=1

Question Number : 9 Question Id : 70819113650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance between the planes ? {2.:'. [ )! 21{' +5=0 and ? I,b";" | ";; 6k| +2=01is:

Options :
5
70819145203, 19
15

70819145204, 4

70819145205, ¢

70819145206.



Question Number : 9 Question Id : 70819113650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aqwa - |27 +7-2k)+5=0 @ ¢ (6i+3]-6k|+2=0F AT AT

Options :

70819145203. 19
70819145204, 4

70819145205, ¢

70819145206.

Question Number : 10 Question Id : 70819113651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
4

The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

70819145207, 20

70819145208.

70819145209, 2V



b

70819145210, 2V

Question Number : 10 Question Id : 70819113651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L Tkt by . n = _n l l ) oY
ahmmmxamYﬁﬂmm$q$wﬂmnﬁamﬁﬂmﬁ$m$mnEamg%|ammﬂaﬂmﬁ
F) 69 Y U 76 F F 99 T &, 0 30 T F I 4 31F UF F 50 2 oF F e ©

Options :

70819145207. 20

70819145208.

70819145209. 2U

12

70819145210, 2V

Question Number : 11 Question Id : 70819113652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

REr is oqual Lo :

The polar form of the cnmplex number
1—i

Options :

—_ —_

cos — +1i sin—
9 9
70819145211. e e



—_ —_

Cos ——1sin—
2 2

70819145212. < <
cns'—T F i .'?»inE

70819145213,  * '
cos L [ .'aini

70819145214. ' '

Question Number : 11 Question Id : 70819113652 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gfmg dem L w1y we
1—1

Options:

cosi I z':;ini
2 2
70819145211. e e

cos % { sin%‘
70819145212. > B

cns'—T [ fsini
70819145213. ' '

cos L i !ain.i
70819145214,  * '

Question Number : 12 Question Id : 70819113653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819145215.

70819145216, -

e

70819145217.

==

70819145218.

Question Number : 12 Question Id : 70819113653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ife 39 1@ 1 FHE, 5 g (1, 0) 790 (3, 0) F HaH 9wl W i 2: 1% S ° Fedl
991 70 W oEd o €, ar=7 8, W a W AH TR E :

Options :

I

70819145215.

70819145216, -

70819145217.

70819145218, 1

Question Number : 13 Question Id : 70819113654 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2x=0 with respect to
the line x+y=2, is :



Options :
70819145219, X ty?—2x+4y+3=0

20819145220, FH¥ —4x—2y+4=0

ST P R S
70819145221, 2@~ +y7) —x+y+1=0

S g B iy il
70819145222, ¥ ¥ ~2x—4y+3=0

Question Number : 13 Question Id : 70819113654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T, x-+-y=2§n"T‘HTEIE%T, 91, 13+f—h=n%a¢muﬁfam@mﬁm%:
Options :

70819145219, ¥ Ty - 2x+dy +3=0

-

2+ P —4x—2y+4=0

70819145220.

3] e ST I R TN
70819145221, 2 +y) —x+y+1=0

-2 s e
70819145222, ¥ T —2x—4y+3=0

Question Number : 14 Question Id : 70819113655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{;lf 1 )2

=1 and the circle

Equations of the common tangent of the ellipse

(x+1)2+(y—1)>=4 are :



Options :

70819145223, ¥+3=0 and x-1=0

70819145224, ¥ —3=0 and y+1=0

70819145225, X¥+3=0 and x—1=0

y-+-3=[] and y—1 =
70819145226.

Question Number : 14 Question Id : 70819113655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
n e {1‘ | 1)2 (lj' .l )2 N X 7 Ban r . o o n S
TEIT ——— =1 T, (x+1)2+ (y— 1)? =4 F AT T3 @A & FHF 2 |

- 3

Options :

20819145223, Y 13=0 @Mx—1=0

70819145224, ¥~ 3=0 @My +1=0

70819145225, *+3=0 T x—-1=0

y+3=0 TAMy—1=0
70819145226,

Question Number : 15 Question Id : 70819113656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_. 1 a
If A= [” J , then Ak (keN) is :

Options :



70819145227.

70819145228.

70819145229.

1 ka
0 0
70819145230.

Question Number : 15 Question Id : 70819113656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- . ]. r.-‘! 5 = i 5
7fg .-1=[” J &, 1 AK(ke N) =R T :

Options :

70819145227.

70819145228.

k ka
0 k.

70819145229.

1 ka
0 0
70819145230.



Question Number : 16 Question Id : 70819113657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + .1'3 =5
Xy +2x,+3x,=9
xy+3x;+sx3=t

has no solution, are :

Options :

70819145231, S=2, t=13

70819145232, S#5

70819145233. °

70819145234.

Question Number : 16 Question Id : 70819113657 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
s 91 t % o |H, T fou e e
X+, 13=5
.1-1 1+ 2.1'2'1" q‘.l; e g
Xy +3x, +sx,=t
1 1S B e 8, &
Options :

70819145231, S=2, t=13

70819145232, S# 5

70819145233, S=2 t=13



70819145234, 1# 13

Question Number : 17 Question Id : 70819113658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. b 4 1 2x ) 3 | i 1 ( 2x )
Derivative of tan ‘ 5 | with respect to sin 5 | in (1, ), is:
k.] . k_1 | _l"',J
Options :
70819145235,

70819145236, — 1

70819145237.

2

70819145238.

Question Number : 17 Question Id : 70819113658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s . 1 f 2_}_' A . 5 1 ( 2.1' \ - - -
=0 (1, =) H, tan ‘ j‘?ﬁlp Sin ‘ 5 ‘%W&-’fw%:
([ 1—x" SRE Ny
Options:
70819145235. :

70819145236, ~ 1

70819145237, ©



2
70819145238. ~

Question Number : 18 Question Id : 70819113659 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘C‘ )
=T=1. If axlaxc/+b=0,then

T N —. ¥ —_ — —_ =

—5 —5
Let a, b and ¢ be three vectors such that ‘a‘:

b

—

o
the acute angle between a and ¢ is:
Options :

am

&)

70819145239.

NE

70819145240.

o
q

70819145241.

5w
12
70819145242.

Question Number : 18 Question Id : 70819113659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= ‘_:1‘§| TR 2> |§€J|

C
7 \

_;‘

*::[]%J_f‘ﬂ

T a4, b T ¢ ﬁmmé,mm\aLb
g a q91 ¢ & " FFHWE

Options :



NP

70819145239.

NE

70819145240.

m
3

70819145241.

s
12
70819145242.

Question Number : 19 Question Id : 70819113660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)
Options :

) -1 tan 'y
70819145243, Y~ 1 tan ‘ytce

1

y=tan "y—1+ ce tan x

70819145244.

= o —tan -IH
70819145245, Y~ tan y—ltce

70819145246.

Question Number : 19 Question Id : 70819113660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HIFHe THF (1+y2)dx=(tan "y —x)dy F1 & T :
(SEF ¢ TF =3 TN )

Options :

. -1 —t:u‘l"l:.,r
70819145243, Y~ 1 tan ytce

P, 1 3 tan Lx
70819145244, Y=tAN Y- 1t ce

. -1 --tin_'lj.l.r
70819145245, Y- tan y-ltce

70819145246.

Question Number : 20 Question Id : 70819113661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y ) ; — .z:l .z.:_ ' .
The values of x, for which the vectors a = (x>~16)i+4 j— (x*~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :

70819145247, 172 —4l <[4, 5]

70819145248, L2 4) © (=4, 3]

70819145249, (72 ~4) W (& 5)

70819145250, (>4 (—49)

Question Number : 20 Question Id : 70819113661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3590, o o B @ = (2 16)1 + 4 (62 25)k Pl el ) s fene 7 v
= T, B G o e 2

Options :
70819145247, L2 —41 w45

70819145248, 72 4) = (=4 3]

70819145249, (72 —4) w (&, 9)

(=5, 4) U (-4, 5)

70819145250.

Mathematics Section B
Section Id : 708191479
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191759
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819113662 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T [1+ cos2x .
I|— dx is
}1” 2

(



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819113662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

™ 11+ cos?x
J‘ﬁ& dxy =T
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819113663 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 22 Question Id : 70819113663 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Otan0+4cot M FAGI HAE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819113664 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; ; A ; _'xlﬁ_y? - i
The length of the perpendicular from the point (1, 2, 3) to the line B T is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819113664 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

xlﬁ_y F’_z 7
3 2 2

fag (1,2 3) 9@ WA T oE H s E |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113665 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

| are in Arithmetic Progression, then the value of x is

' /
If log 2, log, (2*~5) and logs| 2*
' ' N\ /

3 | =1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113665 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

| i HEHE My

i
Afelog,2, logy(2*—5) T logs| 2*
3% 10§; _\ !

3| ~1

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 25 Question Id : 70819113666 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. ! 13\E  f VR
If x24+x+1=0, then Jh i| I|x2
x

\

Response Type : Numeric

1
<) U 2))
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819113666 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 g . sl
‘ | x® L, |
2\ x°)

e 2 +x+1=07%, J.[|fx i|2 | 'rxz
X/

st
2
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113667 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



x2+y?—4x—2y~11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113667 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i

fag (4, 5) 9 T9 22+ y? —da— 2y — 11 =0 R Wil T5 =49 @, 31 Bnsdl & 919 U =9q4s i
F| W IS F o, A, e |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819113668 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to ____

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819113668 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Ife T 598 927 & WA T FE AN 15 7 S S a0 F1 AR 117 8, O WoF AqwEn

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819113669 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, de Z with ged (|a|, |b, |c|)=1,
then |atb+c+d|isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819113669 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

T U T, S T (1, 2, 6) T41(2, 5,7) W A T € a9 FHA, dx -y +2 =15 F T
%' H THH ax’rhy-i-cz-i-d:[]%l g a, b, c, deZ a4l gcd ([al, |b|, c]:l?:, M la+b+c+d
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113670 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of real solutions in the interval [ -‘ of the equation 4sin®xy — 8sinx+3=0

15 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113670 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. Im 7
Wﬁ[ TT-‘HW-HLI‘I‘JL 8 siny +3=0% IdTaF ol B g T

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113671 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1.1 _10
o za and

Let Al, Az, Aa, ....... be an increasing geometric progression. If T4 b B
AA,=44], then 3(A, +A,) is equal to

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113671 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T B B U ..
A Agy Ay...... T A TR A 1 3 | Ay 3 TMAA=MIT TIA+A)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Aptitude Test

SectionId: 708191480
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191760
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819113672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the "UNESCO’ ?
Options :
70819145261 United Nations Educational, Scientific & Cultural Organization.

70819145262 United Nations Educational Sc-curit}-' Cultural Drgani_zatinn.

70819145263. United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819145264.

Question Number : 31 Question Id : 70819113672 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1 H | “UNESCO’ %1 qui ®9 (Full form) &9 |1 & ?
Options:

20819145261 FTEICE TeH TSHI, WIS FF T Foate ACHESI
70819145262, FTEIEE T9H UgHYAA foafie] Foatd ATTHIEsH

70819145263, TTEICE 9 TETH H5E Hfei AT

20819145264, TTE(EE TUE USHITA, TEATS T Foaldl SATHIESEH

Question Number : 32 Question Id : 70819113673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819145265, D-(1), (ID-(@), {D-(d), (IV)-(c)

20819145266, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819145267, 0@, (ID-(b), (ID-(c), (IV)-(d)



20819145268, OBy (DHa), (<), EV)L{d)

Question Number : 32 Question Id : 70819113673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 =i 1 =1 g=i 11 H s |

T 1
(I) e 3AF %A (a)
(I) e =ie, AreaT= (b)
(I 92HmE (©)

(IV) Hf==EmE (d)




Options :
70819145265, -(b), (ID-(a), (ID)-(d), (IV)-(c)

70819145266 (D-(c), (ID)-(d), (II)-(a), (IV)-(b)

70819145267, (D-(@), (ID-(b), ([D-(c), (IV)-(d)

70819145268, 0P (1D-(@). (A-(c). AV)-(d)

Question Number : 33 Question Id : 70819113674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819145269, DB, (I-©), (D), (IV)-(a)

70819145270, (D-(b), (ID-(d), (T)-(c), (IV)-(a)
20819145271, -, ()-(@), ()-(b), (IV)-(d)

70819145272, 1) (D-@), (D), (V)-(<)

Question Number : 33 Question Id : 70819113674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
=1 9= 1 =1 9= 11 9 e |

T 1 = 11
I W& (a) TameIftar safEe 2fa
(I fewed (b) =Y i
() WoeqX T (c) Tae® Afme
(IV) HicTahran (d) o= AT
Options :

70819145269, (B} (I)-(), (II)-(d), (TV)-(a)

70819145270, (D-(P), (ID)-(d), (I)-(c), (IV)-(a)

70819145271, ), (ID-(a), AID)-(b), (IV)-(d)

70819145272, (D-(b), (ID)-(a), (LD)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819113675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819145273, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

70819145274, (D-(a), (ID-(b), ([D-(c), (IV)~(d)

70819145275, 1) (D-(a), (ID-(d), (IV)-(b)

70819145276, V) (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819113675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e |t 1 =1 | 1 fersd |
e 1

(I) & = faen (a)

(IT)  #A=Ten Afsg (b)

(IIN) et favafame (c)

(IV) <=1 A=Y (d)

Options :

70819145273, (0-(b), (ID-(), (I)-(a), (IV)-(d)

20819145274, (D-(@), (I)-(b), (I)~(c), (IV)-(d)



70819145275, 1), (ID)-@), (D)-(d), [V)-(b)

70819145276, V() (1D-@), (D-(<), IV)(d)

Question Number : 35 Question Id : 70819113676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - I1.

List - 1 List - 11
()  Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITII) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

70819145277, (0-(¢): (), (D-(b), IV)-(a)

70819145278, (D-(c) (I)-(d), (I)-(a), (IV)-(b)

70819145279, (D-(d), (ID-(b), (ID)-(c), (IV)(a)

70819145280, (D-(P), (I)-(d), (D)-(a), (IV)-(c)

Question Number : 35 Question Id : 70819113676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T Gt 1 1 g 19 ey |

T 1 = 11
() F=fEs = (a) TR
(1) femy Af=R (b) AHTE
(1) fefewn =it (c) T
(Iv) sRAf< (d) TR
Options :

70819145277. (D-(c), (IL)-(d), (IID)-(b), (IV)-(a)

70819145278, (D-(©), (I)-(d), (ID)-(a), (TV)-(b)

20819145279, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819145280, (D-(b), (I)-(d), (M)-(a), (TV)-(c)

Question Number : 36 Question Id : 70819113677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options:

20819145281, (D-(@), (I)-(d), (D)-(b), (IV)-(c)

20819145282, (D-(d), (I)-(c), (I)-(a), (IV)-(b)

70819145283, (D-(d) (ID-(c), ID)-(b), (IV)-(a)



20819145284, 0@ (D-(b), (D-(d), (IV)-(c)

Question Number : 36 Question Id : 70819113677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e AT 1 R g 1 A e

T =it 11
(I) HEUTTe fe (a) AR
(II) T FIE (b) EAGEAGI
() irerehie fahem (c) fawet
(IV) Wi faferas ) SR
= fou fasedl 3 6 W8 s A |
Options :

20819145281, (D-(@), ()-(d), (HID)-(b), (IV)-(c)

70819145282, (D-(d), (I)-(c), (D)-(a), (TV)-(b)

20819145283, (0D, (ID-(), AID-(b), (IV)-(a)

70819145284 (D-(a), (I)}-(b), (TID)-(d), (TV)-(c)

Question Number : 37 Question Id : 70819113678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small thf_ngs’ is written h}-‘ which Indian Architect ?

Options :

70819145285, B-V. Doshi

70819145286. Arundhati Roy



20819145287, Revati Kamat

70819145288. Bimal Patel

Question Number : 37 Question Id : 70819113678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Tife S e foia ' T @ e R argiedt 3 fowa €7
Options :

70819145285, = =1 <

70819145286, FAEHAl T4

70819145287, 1Hdl A

70819145288. l s

Question Number : 38 Question Id : 70819113679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819145289, ujarat

70819145290, 'Vest Bengal

70819145291, lamil Nadu



70819145292, Rajasthan

Question Number : 38 Question Id : 70819113679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘g figest =1 U R, e § O s feg a8 aren s g ?
Options :

70819145289, 170

70819145290, T =TI

70819145291. =

70819145292, SEH

Question Number : 39 Question Id : 70819113680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819145294 South-East side

70819145295, North side

70819145296. South-West side



Question Number : 39 Question Id : 70819113680 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I STHETEIT H WA e fy faen 3§ waw w72
Options :

70819145293, 0o e=H fam

70819145294, STEU-T= fawm

70819145295, 3 faem

70819145296, SrAT-TT=H fawm

Question Number : 40 Question Id : 70819113681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following building represents the colonial Architectural pattern in India ?
Options :

70819145297, Bharat Bhavan in Bhopal

70819145298 LIC Building in Delhi

70819145299, Charminar in Hyderabad

1 1 ! 3 - s e . :
70819145300. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819113681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



forer & U Frl ToRE, WA B ¢ SRR A’ wee @ aid ¥ 2
Options :
70819145297, M =1 YRA Ha1

70819145298, Taeal @ LIC $9RA

70819145299, ©lEE 1 IRHAR

70819145300, Frererdl &l IEEREE IR CI P

Question Number : 41 Question Id : 70819113682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options :

70819145301, $207¢590 (mm > mm)

70819145302. 420 x 594 (mm X mm)

70819145303, 227 X420 (mm> mm)

70819145304. 420 x 592 (mm X mm)

Question Number : 41 Question Id : 70819113682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A2 ZTET YiE H SER E :

Options:



70819145301. 420 x 590 (mm x mm)

70819145302. 420 x 594 (mm x mm)

70819145303. 207 x 420 {1‘1‘11‘1‘1 i 111111]

70819145304, 120592 (mm> mm)

Question Number : 42 Question Id : 70819113683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819145305. Chittor fort

20819145306, Jaigarh fort

70819145307, bhangarh fort

70819145308, ‘+mer fort

Question Number : 42 Question Id : 70819113683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oty 2o’ e 6 A b WIS A e &2
Options:

70819145305, T2 HIE



70819145306, 4T3 HIE

70819145307, 1 HI=

70819145308, HARE FIE

Question Number : 43 Question Id : 70819113684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819145309, Sanjay Puri

70819145310, ¥ikram Lall

70819145311, xshok Lall

70819145312, & Sompura

Question Number : 43 Question Id : 70819113684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gufag Af<t ‘ eram’ #t wvwa = | 9 fim angfoed 3 796 ?
Options :

70819145309, Hord T

70819145310, 1954 @@



70819145311, 130 ©icd

70819145312, - HHIT

Question Number : 44 Question Id : 70819113685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819145313, Charles Correa

70819145314, Richard Mier

70819145315. Jasbir Sachdev

70819145316, Ramjit Sabliki

Question Number : 44 Question Id : 70819113685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘aegy W getEs e 6 9 e Aot uT et @2
Options :
70819145313. = i

70819145314. R=E =R

70819145315, SEER Haad

70819145316, 1Sid Heeil=hi



Question Number : 45 Question Id : 70819113686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate cha_nge
70819145317.

70819145318, Clobal warming

70819145319. Sustainable development

70819145320, Smart city

Question Number : 45 Question Id : 70819113686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=y ‘werer- 21 e H F form § Hafea g7
Options:

70819145317, ST€91g e

70819145318, T4 =1

70819145319, HHRUA faFE

70819145320, T 142



Question Number : 46 Question Id : 70819113687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819145321 Karnataka

70819145322, Orissa

70819145323, Maharashtra

70819145324. Uttar Pradesh

Question Number : 46 Question Id : 70819113687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frAddya s fFaga i an i am g7
Options :

70819145321, Fies
70819145322, TS
70819145323, TeRI=

70819145324, 0% A=A

Question Number : 47 Question Id : 70819113688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819145325, North

70819145326, >0uth

70819145327, Cast

70819145328, West

Question Number : 47 Question Id : 70819113688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o TireTs § TeTs ed v T fawn & o g 2
Options :

70819145325, =1t

70819145326, <14l

70819145327, 19

70819145328.

Question Number : 48 Question Id : 70819113689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The first Indian Architect who has won Pritzker Prize in 2018 is :

Options:



i _
70819145329, B+V: Doshi

70819145330, Laurie Baker

70819145331, < Rewal

70819145332, ‘:chyut Kanvinde

Question Number : 48 Question Id : 70819113689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Teell YA arafeed, fam 2018 # firess g Sitan @
Options :

70819145329, .91 <=M

70819145330, T =L

70819145331, =1 141

= TS
70819145332.

Question Number : 49 Question Id : 70819113690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options :

70819145333, Bengalurm



70819145334. Banaras

70819145335, bengal

70819145336, Bari

Question Number : 49 Question Id : 70819113690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘=T’ (Bungalow) ¥1e %1 39T A H 4 R gen ?
Options :

70819145333, ST (Bengalurm)

70819145334, 14 (Banaras)

70819145335, AT (Bengal)

70819145336, 1 (Bari)

Question Number : 50 Question Id : 70819113691 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?

Options :

70819145337, Laurie Baker

70819145338, Louis Kahn



70819145339, -utyen

70819145340, Le Corbusier

Question Number : 50 Question Id : 70819113691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1 § 7 form Irgioedt 51 [IM STeHeiETe it B9l =T T8 2
Options :

70819145337. AR T

T

70819145338, 9t FI1
70819145339, T3

70819145340, 11 ISR

Question Number : 51 Question Id : 70819113692 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :

70819145341, 14

70819145342, 13



70819145343, 12

70819145344, 18

Question Number : 51 Question Id : 70819113692 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e & ¢ st §, il F e ¥

Options:

()

70819145341, 14

3

=

70819145342,

5

(=1

70819145343.

()

70819145344, 18

Question Number : 52 Question Id : 70819113693 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819145345.
I
I
70819145346.
.
_I .-
| |
70819145347.
I | |
70819145348. ]

Question Number : 52 Question Id : 70819113693 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1 3D arfa 1 =9 F forn, |l O afe v e 9 W ¥ WE v w6 g

Options:
I ]
1 |
70819145345.
I
I
70819145346.
.
J l—
| |
70819145347.

70819145348.



Question Number : 53 Question Id : 70819113694 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
70819145349.

N
70819145350.

Il
70819145351.

70819145352,




Question Number : 53 Question Id : 70819113694 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e 1 TS WE ST U TG F FHI 594 B A ¢ | I A § 1, A fawn F v gu v

T & 9|

— D 0
Options :

A
70819145349.

N
70819145350.

I
70819145351.

70819145352,



Question Number : 54 Question Id : 70819113695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819145353.

L
70819145354.

[ 1
70819145355.

70819145356.



Question Number : 54 Question Id : 70819113695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 T ATl U 9 F S 9 B ¢ | R o § S gu, & T S it 6 4
Eeci| U\f_ﬁpa\ 1 (elevation) fﬁT%ﬂTﬁT{l

—
|

Options :
70819145353.

L
70819145354.

[ ]
70819145355.
70819145356.

Question Number : 55 Question Id : 70819113696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819145357.

70819145358.

70819145359.

70819145360.

Question Number : 55 Question Id : 70819113696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T S H T T F S 5vd 1 femmn ) A e § S gy, SW At |§ § w
UM (elevation) F1 TE=1Y |

=

T

Options :

70819145357.

70819145358.

70819145359.

70819145360.

Question Number : 56 Question Id : 70819113697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819145361. >
70819145362. D
70819145363. v
70819145364. ﬁ

Question Number : 56 Question Id : 70819113697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9 % 9w IW oot 36 oam Ao faon # weA fo=1 o fow gon €1 WE SW o 9|

Options :
70819145361. E

70819145362.



70819145363. ;
70819145364. ﬁ

Question Number : 57 Question Id : 70819113698 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819145365.

70819145367.

W
70819145366. Q
0
N

70819145368.



Question Number : 57 Question Id : 70819113698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 & 4 u I oo < srm o fam 8 wed foa § fow gen ¥ wé swoH gFE

Options :

70819145365.

70819145367.

e
70819145366. Q
0
A

70819145368.

Question Number : 58 Question Id : 70819113699 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :

70819145369. :



70819145370. i
70819145371. :

70819145372. [>

Question Number : 58 Question Id : 70819113699 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 ¥ 9w T fost <t s e fawn & wea fo & fow gon @1 W@ Sw w1 gf )

\

Options :

70819145369.

70819145371.

N
sz, C

A

>

70819145372.

Question Number : 59 Question Id : 70819113700 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819145373. D
70819145374. D
70819145375. O
70819145376. ;

Question Number : 59 Question Id : 70819113700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

et & 9 ush 3 ot ol e e fawn 9 e o 3 fow gon 1 @ s A 9 E |

Options :

70819145373. D

70819145374. D



70819145375. O

70819145376, #

Question Number : 60 Question Id : 70819113701 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
[
[]
X
Options:
[ ]
70819145377.
[]
[ ]

70819145378.



70819145379.

70819145380.

Question Number : 60 Question Id : 70819113701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
W ATl H T FF W SAF < T G AFA FX-X F UG Tl gafa &7

X

[

[ 1]

Options :

70819145377.



H
]
70819145378,
[l
]
70819145379,
L]
[]
70819145380,

Question Number : 61 Question Id : 70819113702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

X X

Options :

70819145381.

D)
N

70819145382.

P,

Ao

70819145383.

0N
N2

70819145384.



Question Number : 61 Question Id : 70819113702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I AFTE H T HH W AFH S T 9T AF FX-X F A FE wffa &2

N
N\
AN
N/
(D)
téJ

0N
N2

70819145384.



Question Number : 62 Question Id : 70819113703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819145385. /
N
NV
N\
70819145386. /
N
P
N/
70819145387. /[\

70819145388.



N4
AN

Question Number : 62 Question Id : 70819113703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IR ATl | W i T SATHA G TE T ST HX-X F HIeT Tl qitferns g ?
/ X
NN

\
/
i

Options :

NN

70819145385.

P s g

70819145386.

70819145387.



70819145388.

Question Number : 63 Question Id : 70819113704 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

708191453809.

70819145390.

70819145391.



N
S

70819145392.

Question Number : 63 Question Id : 70819113704 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wﬂmﬁﬁﬁﬂﬁmﬁ?ﬁ?Hﬂﬁﬁﬁwmﬁmﬁﬁﬂfﬁq(sequence) T

S 7

Al

Options :

74
708191453809.
70819145390.

N2
S

70819145391.



70819145392,

Question Number : 64 Question Id : 70819113705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819145393.

70819145394.

70819145395.

70819145396.



Question Number : 64 Question Id : 70819113705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D EHT H U T F U 39 I @ T g | A e § Y gu, W v H I A
LR

/ﬂ

Options :

70819145393.

70819145394,

70819145395.

70819145396.



Question Number : 65 Question Id : 70819113706 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819145397.

70819145398.

70819145399.



70819145400.

Question Number : 65 Question Id : 70819113706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D A ¥ T 76 F T 5% FI fe@mn T g1 dR 1 few H T gu, Wl 59 FI S AHfad
H ¥ |

\§

/

Options :

70819145397.

70819145398.



70819145399.

70819145400.

Question Number : 66 Question Id : 70819113707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819145401.

70819145402.

70819145403.

70819145404.



Question Number : 66 Question Id : 70819113707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3D T H T T F U 39 F femm T ¥ A e T g, v T F W A
H Y @ |

3

7 NA

Options:

70819145401.

70819145402.

70819145403.



70819145404.

Question Number : 67 Question Id : 70819113708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819145405.

70819145406.

70819145407.

70819145408.



Question Number : 67 Question Id : 70819113708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3D AT ¥ U 5 F U 39 F1 e g | A S a6 ¥ g, v o 9 I g
H Y |

/ﬂ

Options :

70819145405.

70819145406.

70819145407.

70819145408.



Question Number : 68 Question Id : 70819113709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

708191454009.

70819145410.

70819145411.

70819145412.

Question Number : 68 Question Id : 70819113709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
3D ST H U T % U 999 I @ T g | R S e # S gy, 9 9vd F1 S S
H 9 g |

/ﬂ

Options :

708191454009.

70819145410.

70819145411.

70819145412.

Question Number : 69 Question Id : 70819113710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819145413.

70819145414,

70819145415.

70819145416.

Question Number : 69 Question Id : 70819113710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D T H U T U 2vF I fem T E | aR T e § S g, W gy P IW A
LERCEE

/

Options :

70819145413.

70819145414.

70819145415.

70819145416.

Question Number : 70 Question Id : 70819113711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819145417. '

70819145418.

70819145419.

70819145420.

Question Number : 70 Question Id : 70819113711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D ST H U T F U v I fem@me T | AR T e # S g, Wel 5w S A

T Y YU |

/

Options :

70819145417. I

70819145418.

70819145419.

70819145420.

Question Number : 71 Question Id : 70819113712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819145421. —I

70819145422, l

70819145423.

70819145424.

Question Number : 71 Question Id : 70819113712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D AT § U 7 % U @ ) femm T | v few 4 S gu, T 3 A I A
H 4 |

/l

Options :

70819145421. —I

70819145422, l

70819145423.

70819145424.

Question Number : 72 Question Id : 70819113713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819145425.

L]
70819145426.
70819145427. [:]

L]

70819145428.

Question Number : 72 Question Id : 70819113713 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D A TF 9% F UF o P 0 T E | A R fowm H T g, W o F I A
% 4 = |

Options :

70819145425.
70819145426.
70819145427.

70819145428.



Question Number : 73 Question Id : 70819113714 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819145429. l l

|
70819145430. | I
70819145431. | l

||
70819145432. l

Question Number : 73 Question Id : 70819113714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
3D ST § U 9 F U 599 F1 SO | AR e § e gu, v 59 S At
H 4 wEE |

Options :

|
70819145429. l l

l

70819145430. | I
70819145431. | l

||
70819145432. l

Question Number : 74 Question Id : 70819113715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819145433.

70819145434,

70819145435.

70819145436.

Question Number : 74 Question Id : 70819113715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D S H T 95 F U 39 F Feman T g1 R fewm ¥ e g, v 99 I Ao
LR R

A

Options :

70819145433.

70819145434.

70819145435.

70819145436.

Question Number : 75 Question Id : 70819113716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819145437.

70819145438.

708191454309.

70819145440.

Question Number : 75 Question Id : 70819113716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Options :

70819145437.

70819145438.

70819145439.

70819145440.

Question Number : 76 Question Id : 70819113717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819145441.

70819145442,

70819145443.

70819145444,

Question Number : 76 Question Id : 70819113717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3D T T T F U GV HI T T | THH W S g9, I A | Y T |

Options :

70819145441.



70819145442,

70819145443.

70819145444,

Question Number : 77 Question Id : 70819113718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819145445.

70819145446.



=

70819145447.

=

70819145448.

Question Number : 77 Question Id : 70819113718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3D T H U 7 F U 0 I foar T § | T e S 5%, S AFH § § v

Options:
70819145445,
70819145446.

70819145447.



=

70819145448.

Question Number : 78 Question Id : 70819113719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}-' the buﬂding compositions of having less visual tension amongst the fo[lowing figurcs.

(A) (B)
(©) (D)
Options :

70819145449, () and (B)

(B) and (C)
70819145450.

70819145457, (©) and (D)

70819145452, (D) and (A)

Question Number : 78 Question Id : 70819113719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



= <1 S A § 9 gfe-HeEH 9 799 & 999 92 H e |

(A) (B)

(©) (D)

Options :

70819145449, (A) T (B)

70819145450. B oG

~

70819145451. Srad)

70819145452, (©) S (A)

Question Number : 79 Question Id : 70819113720 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problom f igure shows the top view of an ohjoct. Idontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

Options :

70819145453.

70819145454.



70819145455. |_ |_| |_|

70819145456.

Question Number : 79 Question Id : 70819113720 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T I | T 6 F S0 99 F @ TR | R e H e gv, 3w At § ¥

T‘flﬁ‘\?ﬁ (elevation) ) TR |

Options:

70819145453.

70819145454,

70819145455, |_ |_| |_|

70819145456.



Question Number : 80 Question Id : 70819113721 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819145457.

70819145458.

2 2 4

708191454509.



70819145460.

Question Number : 80 Question Id : 70819113721 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T S & U T o S v ) fommen T g Ao fem § S gu, SwW s § ¥ @

TEAYH (elevation) F1 T2 |

[
\

Options :

70819145457.

70819145458.

70819145459.



70819145460.

Planning
SectionId: 708191481
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191761
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819113722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?



Options :

70819145461, Automobile

70819145462, Clothing and Textile

70819145463. Printing

70819145464, Iron and Steel

Question Number : 81 Question Id : 70819113722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wor fava 95 9 e, A 8 O SiA-=1 32 wed § st | T8 o ?
Options :

70819145461, T

70819145462, T4 &4 TEH

70819145463, &%

70819145464, M€ &4 FEK

Question Number : 82 Question Id : 70819113723 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of ____ released into the atmosphere.

Options :

70819145465, |Vitrogen



20819145466, Greenhouse gas

70819145467, Ozone

20819145468 Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819113723 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEA M F AN H, 9gH=d | 9 {9 m g

Options :

-

70819145465, 1e<1°

70819145466. S T

[ L

70819145467, -

20819145468, TET oS deFe H (TAULTR.)

Question Number : 83 Question Id : 70819113724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



KodaiKanal
Kullu
Mount Abu

Panch gani

MO 0w e

Pahalgam
Arrange the above hill stations in the correct sequence from south to north in India.

Choose the correct answer from the options given below :

Options :

70819145469, E7?D—=B—- A= C

70819145470, E7B—=C—=D—A

70819145471, € A —=B—=D—=E

70819145472, A 7D —=C—B—E

Question Number : 83 Question Id : 70819113724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. T

A. wERFTA
B. Fd

C. HEZ A9
D. Y9
E. TU&erTH

SR fed T4 e i =1 <faw feon 9 I fewn 1 @R 9 #9 ¥ fafau)
== feu gu faedi 9 | we faweq #1 =91 =i |

Options :
70819145469, E7?D—=B—- A= C

70819145470, E7B—=C—=D—A

70819145471, € A —=B—=D—=E



70819145472, 2 7P~ C—=B—E

Question Number : 84 Question Id : 70819113725 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning Commission in India has been replaced by :
Options :
70819145473, Mo HUA

70819145474, NITT Aayog

70819145475, NIUA

70819145476, LTIl

Question Number : 84 Question Id : 70819113725 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R H A A F W T g ?
Options :

70819145473, T THAT. (Mo HUA)

70819145474, 14 ST

70819145475, 1% B

70819145476, T-LF-3TE.



Question Number : 85 Question Id : 70819113726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone's Act enacted in India ?
Options :

70819145477, 2005

70819145478, 2007

70819145479, 2009

70819145480, 2011

Question Number : 85 Question Id : 70819113726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"' Fr9Te sHEEIHE 5[ UEe ' WRG H 9 wIia T o917
Options:

70819145477, 2005

70819145478, 2007

70819145479, 2009

70819145480, 2011

Question Number : 86 Question Id : 70819113727 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options:
70819145481, National Horticulture Association of India.

70819145482, Mational I—Tc-ritage Authf}rit}-' of India.

70819145483, National Hydroelectric Power Authority of India.

70819145484. MNational Highwa}f Auﬂmrit}-' of India.

Question Number : 86 Question Id : 70819113727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TA.UE., TS, 1 e 991 € 7 Wel I 910 |
Options :

20819145481 IS Beiheat THIHUYA 1% sfo=47 |

A Y

70819145482, oA TR AR AF S04 |

70819145483, A EIEgIECI W AR A1F o=

70819145484, TOMIC B9 ST AE = |

Question Number : 87 Question Id : 70819113728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



How many Sustainable Development Goals were adopted by the United Nations ?
Options:

70819145485, 19

70819145486, 10
70819145487, 17

70819145488, 18

Question Number : 87 Question Id : 70819113728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T §9 5N foe 9ad f9m @l (Sustainable Development Goals) 1 =T i T 7
Options :

70819145485, 19

70819145486, 10

70819145487, 17

70819145488, 18

Question Number : 88 Question Id : 70819113729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year, the first industrial policy by Government of India was announced ?
Options:

70819145489, 1947



70819145490, 1948

70819145491, 1950

70819145492, 1949

Question Number : 88 Question Id : 70819113729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WA IS &1 99w ST a5 Son R ad | 5 s o ?
Options :

70819145489, 1947

70819145490, 1948

70819145491, 1950

70819145492, 1949

Question Number : 89 Question Id : 70819113730 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning of Barcelona city in Spain is known for its :
Options :

70819145493, Superblocks

70819145494, Tadial pattern



70819145495, high rise development

70819145496 waterbased transpf}rt

Question Number : 89 Question Id : 70819113730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A vt 57 o O | Sufud &, &1 = fm fad st s €2
Options:

70819145493, T

70819145494, =de WL

70819145495, T3l THHTH

70819145496, F¢1 TLE

Question Number : 90 Question Id : 70819113731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :
70819145497, Durgapur

Iz ol P ATEEEy
70819145498 Vishakhapatnam

70819145499, Phubaneshwar



70819145500, Bhilai

Question Number : 90 Question Id : 70819113731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafafaa 9 | HA- UF ST e 6 6 2
Options :

70819145497, = 1

70819145498. Koot e

70819145499. 1

70819145500. ferere

Question Number : 91 Question Id : 70819113732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options :

70819145501, AMRUT

70819145502, Make in India

70819145503, HRIDAY

70819145504. P



Question Number : 91 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819113732 Question Type : MCQ Option Shuffling : Yes

frefafad § 9 9Ra IR 1 FA-9 G TEeiE e A 9 g B 2

Options :
70819145501, 30 (TLTHAXTI2L)

70819145502, ¢ ¥ EIUEA

70819145503.

70819145504, °<1 (FSILA)

Question Number : 92 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

==d (19, . 43099, )

: 70819113733 Question Type : MCQ Option Shuffling : Yes

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options:

70819145505, Tamil Nadu

70819145506. Karnataka
70819145507. Andhra Pradesh

70819145508, Kerala

Question Number : 92 Question Id

: 70819113733 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

frefafed § ¥ -3 2fau T 0 8, Fa Y 99 99 F SHER 56 A g oo
G ¢ (e ) ?
Options :

70819145505, ° E

70819145506, =T

70819145507, “WAASE

70819145508, Fit

Question Number : 93 Question Id : 70819113734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options:

70819145509, 1886
70819145510, 1876
70819145511, 1866

70819145512, 1896

Question Number : 93 Question Id : 70819113734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



" Y W a9 T e g o ?
Options :

70819145509, 1886

70819145510, 1876

70819145511, 1866

70819145512, 1896

Question Number : 94 Question Id : 70819113735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73'd amendment act (73'4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819145513, Lok Sabha

70819145514. State Legislative Assembl}-'

70819145515, Cabinets

70819145516, Lanchayati Raj bodies

Question Number : 94 Question Id : 70819113735 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

73t apieiiz S (73 CAA) 1992 THR Helwam U giaa Hieensll & ford smem fF=fafad 4

4 foraH foan man?

Options :



70819145513, RT3

70819145514, 17 HH

70819145515, T11°

70819145516, A

Question Number : 95 Question Id : 70819113736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

(7}
T
o
o < 210
o BA| - 205
» ‘-.___?__.---"' .‘r._,.--'" 200
E Street O
200
inn -r/ s 205
210
A~ < 215

s3] Water body Market e Contour N
m Vegetation M Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital ] School

With reference to the diagram, choose the correct statement.




Options :

Slope of land on which school is located is flatter than the slope of land on which

70819145517, hospital is located.

Slopc- of land on which police station is located is steeper than the slopo of land on
70819145518, Which school is located.

Slope of land on which school is located is steeper than the slope of land on which
70819145519. temple is located.

Slopo of land on which school is located is the same as the slope of land on which

70819145520. temple is located.

Question Number : 95 Question Id : 70819113736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819145517. M THA 1 TAH T T e o &, THae € 59 oA 1 e § f9E W e e 2

70819145518, ST 1978 T e T & 1 g 1 €, IH WA Bl gor § o W g e 2
20819145519, T 1978 W Tl feord & i gem i 7, 39 Wi i e § for W Af feora 7

20819145500 T 198 T Thet feerd & o gt e i for A ferd @ o ge U ol

Question Number : 96 Question Id : 70819113737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Map Reading,

"Street £

[wi]

e

o

H
o 4 210
’f.f{a_f, ,,,,,,, 205
) hannanil [ I 200

Street C

i 200

f”""
Ll sl DG
- = 210
21

E Railway Stn ”IIIHI[I Hospital

Water body Market Contour N
Vegetation % Police Station Temple

4] Schoal

[n the given diagram, for a person to travel from railway station to temple, one will have to

movein  direction.
Options :

70819145521, North
70819145522, North - East

70819145523, South - West

70819145524, East

Question Number : 96 Question Id

: 70819113737 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEEEA (9 W)

S Ea e I = FL N
i EEEFEE (|
e [[[[[[[]¥Fe

e T ot o TR, U =i B Tod W9 Ao F AR TH o fm fewm | e @m?

Options :

70819145521, ST T2

70819145522, ST-T4

70819145523, SAT-T¥=H

70819145524, =



Question Number : 97 Question Id : 70819113738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading.

In the given

Options :

70819145525,

70819145526

70819145527.

70819145528.

it r Water body Market
5% Vegetation % Police Station

Street C

. 200

Contour N

Temple

T School

diagram, water body is located at a level :

5 m higher than police station.

5m highr_-r than school.

same level as police station.

same level as school.



Question Number : 97 Question Id : 70819113738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FETETA (W9 )

=3 ..:’.J.-f.‘.. 210

-
e 200
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< 200
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Options :
70819145525, T 9 # 5 H. T

70819145526, T2 € 5 Hl, I
e 9 &% W W

70819145527.

70819145528, eNell & FHT W



Question Number : 98 Question Id : 70819113739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category stud}-'i_ng al highor
secondary to those in college is :

Options :
70819145529, 41
70819145530, 12

70819145531, 6:1

70819145532, 1:4

Question Number : 98 Question Id : 70819113739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819145529, 41
70819145530, 12
70819145531, 6:1

70819145532, 1:4

Question Number : 99 Question Id : 70819113740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?2. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :
20819145533, Lhe density of population in urban area is 1000 persons/sq.km.

70819145534. The density of population in urban area is 849 persons/sq.km.

20819145535, The density of population in urban area is 4290 persons/sq.km.

70819145536.



The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819113740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y 1 wat &we 510 fafeea f 2 2| o 30 wiaem (30%) S e w3 9w (3%)
et A &1 Tava e 7.8 fafee vd 55% et S ¥ e Fa S g
Options :

LT = - : ’ =, -
20819145533, TE4 & H SITHEA F T 1000 =afa /=112 2

,o = + ; - : - s i
70819145534, T & H THEA H T 849 FAfH/ FHAL2E

r -\ s - 5 o r n 5
20819145535, T WA H SEHEA F A 4290/ TR A zl

[t =, = - iy : : = 2 >
70819145536, T4 HA H SAHEA F =wTE 7800 =fH/ AT

Question Number : 100 Question Id : 70819113741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819145537. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819145538 an Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819145539 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819145540. increase.

Question Number : 100 Question Id : 70819113741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1981 9 2011 % 92T A, B U5 C i SHHET |

C
2001 B |
A

2001 B

C
1991 B |

1981 B |

I l I l l
i 1 i 1 1
5,000 10,000 15,000 20,000 25,000

0
&l U g
Options :
WA’ 1981 T 2011 % =19 FHEN 1 91 g2 fomamdl & ud et ‘C’ UHn i e
70819145537, @M €|

e ‘B’ 1981 T 2011 F <9 THEN F TNGR T2 g o € U9 Wew ‘A’ Fedl g
70819145538, 1@ €|
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Question Number : 101 Question Id : 70819113742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

) 1
70819145541, 26 kmhr

70819145542, 21.5 kmhr ™

70819145543, 30 kmhr~!

1
70819145544, 282 kmhr

Question Number : 101 Question Id : 70819113742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



U A0 H, 100 S 1 0 F @ T A= S g | " 5 i SR AR #5wen a)
T T

I T ( fR, wfa o) Tl F W=
20 6
25 20
28 24
29 28
33 15
38 1
10 >
45 1

Al 3T A2

Options :

70819145547, 26 TH-HL /=

70819145542, 21-5 TH-AL/5

70819145543, 30 TH.HL /=2

70819145544, 285 TH.HL/521

Question Number : 102 Question Id : 70819113743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?



Options :

70819145545, Asa d‘ua_rit}-' hw, privﬂeged penple.

70819145546. As a way to reduce crime.

As a wav to sensiltize travellers about poor living conditions in the society.
70819145547, ) p & )

70819145548, As an adventure activity.

Question Number : 102 Question Id : 70819113743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the ollowmg best jusfif}-' ‘Slum Tourism’ in the above paragraph ?

Options :

70819145545, Asa d'na_rit}-' ‘m, privﬂeged people.

70819145546. As a way to reduce crime.

As a wav lo sensilize travellers about poor living conditions in the society.
70819145547. 3 P & 3

70819145548, As an adventure activity.

Question Number : 103 Question Id : 70819113744 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819145549, Learning

70819145550, ~taring

70819145551, Feeping

70819145552, Gloating

Question Number : 103 Question Id : 70819113744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819145549, Learning



70819145550, taring

70819145551, Feeping

70819145552, Gloating

Question Number : 104 Question Id : 70819113745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decreaqi_ng.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options:
70819145553, Both A and R are true and R is the correct explanation of A

70819145554, Both A and R are true but R is NOT the correct explanation of A

70819145555, A is true but R is false

A is false but R is true
70819145556.

Question Number : 104 Question Id : 70819113745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
20819145553, <M A A T R W& ¥ 1 A R, F1 A il HE TTEE

70819145554 SFT 99 A TE R T&1 €1 W 99 R, 99 A F 92 TR T8 Sd 2

70819145555, 3 A HEl 2, T 99 R T |

70819145556, 11 A TE T, T 99 R TR 7

Question Number : 105 Question Id : 70819113746 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.
Reason R : Increasing number of married couples do not want to have children,

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819145557 Both A and R are true and R is the correct explanation of A
70819145558, Both A and R are true but R is NOT the correct explanation of A

70819145559, A is true but R is false

70819145560. A is false but R is true

Question Number : 105 Question Id : 70819113746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
0819145558, oMl A A TS R T&l € TH A9 R, A1 A 1 HE T T 2
20819145550, T A &l ¥, T ST R Tl Tl

I A T 2, T A9 R TR 2
70819145560.

Drawing

Section Id : 708191482
Section Number : 5
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191762
Question Shuffling Allowed : No

Question Number : 106 Question Id : 70819113747 Question Type : SUBJECTIVE



Correct Marks : 50
Draw a proportionate sketch of given reference image by using any black and white rendering
techniques of your own choice.
OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering teduﬁques.

Question Number : 106 Question Id : 70819113747 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 107 Question Id : 70819113748 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOID B:SIZE 5 emx2 cmx 2 cm, 4 Nos.

Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819113748 Question Type : SUBJECTIVE

Correct Marks : 50
TT &1 3TEM ek Jq7 3c9d & 594 154 |
3Tt
9 o3 T 21 YR & TG 1 STAM Fh UF THad 9 Geles a1 9418 |
(i) EATH A : 2 THL x 2 HHL x2 AL Hq&A - 5
(i) TAH B : 5 HAL x2 AL x 2 H.A. A - 4



